STANBARD =2 ... » BUNKER DEBRIS SIEVE PRO
LAMPANVEY Fox: 319.266.9627 9000 4

—1
Key Number Item Description Quantity Part Number
1 TOP SECTION WOOD HANDLE 1 29313
2 BOTTOM SECTION WOOD HANDLE 1 29314
3 1/4-20 X 1-1/2" HEX HEAD CAP SCREW 1 13-01000
4 MOUNTING BRACKET 1 29352
5 BUNKER DEBRIS SIEVE 1 29351
6 1/4- 20 HEX NUT 3 13-02003
7 1/4 LOCK WASHER 3 13-01078
8 1/4 FLAT WASHER 2 13-10173
9 1/4-20 X 1/2"HEX CAP SCRERW 2 13-01029



